
REPAIR SHEET 
BRAND 

RYOBI
DESCRIPTION

18 Volt Caulk and Adhesive GunMODEL  NO.

PCL901

TTI CONSUMER POWER TOOLS, INC.
P.O. Box 1288, Anderson, SC 29622      1-800-525-2579      www.ryobitools.com 	 4-6-22 (Rev:01)

The model number and manufacturing location will be found on a label attached to the product. Always mention this information in all communications regarding this product and when ordering parts.



2

PCL901

1

2

3 4

5

6

789
10

1112

12

13141516
17

18

19 20

21

22

23

24

25

26

17

4



3

PCL901

KEY NO. PART NO. DESCRIPTION QTY.

1 544400001 Rack Handle 1

2 692800032 Rack 1

3 539120001 Rack Plunger 1

4 661666001 Screw (M5 x 16 mm) 2

5 941120894 Warning Label 1

6 315247003 Carriage 1

7 524445002 Hex Nut 1

8 633626003 Flat Washer 1

9 544401001 Cartridge Cap 1

10 566346001 O-Ring 1

11 206234005 Gearbox Assembly 1

12 660031012 Screw (M3.5 x 14 mm) 2

13 660211006 Screw (M3 x 6 mm) 2

14 206234004 Motor Assembly 1

PARTS LIST

KEY NO. PART NO. DESCRIPTION QTY.

15 204234005 Circuit Board Assembly 1

16 371398001 Speed Control Dial 1

17 204234004 Housing Assembly 1

18 699720001 Trigger Spring 1

19 370397001 Switch Trigger 1

20 634714001 Springplate 1

21 544399001 Lock Button 1

22 941123871 Data Label 1

23 566427001 Pin 2

24 660570005 Screw (M3 x 14 mm) 10

25 941114321 Logo Label 1

26 614866001 Stop Pin 1

Not Shown:

998000931 Operator’s Manual



4

PCL901

WIRING DIAGRAM

PENTIOMETER

CIRCUIT BOARD ASSEMBLY

MICRO SWITCH

SWITCH

BATTERY CONTACT
PLATE

MOTOR

WHITE

BLUE

BLACK

RED

RED


